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(Honours)
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The figures in the margin indicate
. Jull marks for the questions.

Answer either in English or in Assamese.

Answer the following questions as directed :
(any ten) 1x10=10

e SRpf wos eisTRs e &l ¢ (Reeizar 105))
() Define a diagonal matrix.

R ey sl i |
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(W) Find the value of X, if
x-3 N [efy =1, 3%
WS
x 9 TR

(W If @M) f(x)=2x2 4359 find the
value of f(-3), (CoTT f(-3) ‘SI,F{ et 1) |
(iv) Evaluate (M ety ) 3
[ La
1 X
(v) Define g sinking fung.

G
Bl 461145 s sices )
(vi) 10%
profit s
o on SP. =

Repg eome 10%
% &S |
(vii) Write Trye or False -

T G 9Ty o

——— % profit on
(Fill in the piank)

S = TR g
(1 32 2139 )
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;

(viii) Define trade discount.

A e RS Tl |

(ix) If a is the first term and d is the
common difference of an A.P. series,

then the nth term is ;
(Fill in the blank)

I G5 TG (AT LT 2% a T S A

T4 d 2, n oA 7R 2’91
(3eTt 312 759 790)
(x) Find the cofactor of -1 in the following
determinant :
g FdfEee — 19wzt a1 ¢
2 =305
SEED R
S g o il

(xij What is the difference between simple
interest and compound interest ?

e O OIS 5@ qes AL {2

(xii) Find the fourth proportional to 9m, 17m
and ¥ 36.
9m, 17m W% T 363 ¥ FAASE! el
Sl
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(xiti) D_efint? ‘objective function’ associated
with linear Programming.

%%m%a%mmw’wm
|

! d
xzv — —
(av) l (TC) » Where x denotes the

volume of output,

p (Fill in the blank)

E_’;(TC) 5 SNSRI e x-q @@\%Wﬁa
TR R (T 312 op3et 77)

d
(xv) Em =7

Answer the following questions

Wﬁmswm@m 2x5=10
() If 3@m)
A €0 8 4
=6, =2
2 2 8 :B;—_ O __2 O
SG 9 , find
the matri 34+2p Fe
CGI@SA+23C§W fe
9

BMT)/G 4

*

(%)

(iii)

(iv)

(v)

(v)
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If (3%) f(x)=1+x,

then find f {f(x)}.
o8 £ {f(x)} F 0

Which term of the series 10, 4,-2, -8,

.. is =104 7?
10,4,-2,-8, .... NTIOR (D! =
0412

Find the compound ratio of the
following :

OoR SHATSEINT (I Seeite e = 8

2 A3MO LN SEAD)
The ratio between two numbers is 2 : 7.
If each of them is increased by 14, the
ratio between the new numbers

obtained become 4 : 7. Find the original
numbers.

Y51 FRE SATS 2 @ 7 | ASCH! FRYE 1S 14
G191 B CART g TR PO SFAO R 4 7 |
sfgell T YOI WA e i |
Define (3l foidl)
(a) Immediate annuity

Ao !

(b) Perpetual annuity

EREEIRIES
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(vii) Mr. X bought a cycle for 3 2,000 and

s?ld it 1"or 2 1,800 due to some damage.
Find his profit or loss PEr' cent.

Mr. X-9 @39 bz 3 2,000 F w5 @@

(WM IR = 1,800 R $Ree, deg =1 4l

(TIPS *oa1t 217 fefyy 3wy |

(viii) :I: what lrate of simple interest per

irltnurn ‘fvﬂl R 1,500 produce the same

: t;rest in 5 Years as ¥ 3,125 produce
years at 4% per annum ?

R 91 o 2w 1,500 55 5 =1 9,

3,125 53 IR 49 T o] B 3 9%
(0]
ToF T 299 Wi

following ;
5x4=20
S RESIer 451 o e 14t ¢
Q) If ()
\ T )
l’ A: i
? [ 0 1]’ B=[? é]
show that (Cﬁ‘aiegn ®)
(A+B)2 # A® +2AB 4 g2
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(1)

(iii)

()

(V)

Solve (Ui <41) :

= =
]
(@)

gl
K 2
kg1 L

If x, y, z be the pth, gth and rth term
respectively of an A.P., then prove
that

M x, y, z TOEE ¢l N (W™ p o,

g SF roy #v F, & 9 &
x(g-r)+ylr-p)+z(p-q)=0

Insert 5 geometric mean between 9 and

SHTO:

9 HIF 576-9 WCTS 561 G A THOS

<4l

Discuss the basic assumptions of

linear programming.

R A G GREPRR ST 5

Compound interest for 2nd year on a
certain sum at 4% per annum is T 25.
Find the C.I. for 3rd year.

TR 4% O TS (I TS @0l T8

ST 7O 25 5l T, YOI T4 G O
i 2 '
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g _ | (T A RS TS Al AN (20!
(vii) Dinesh finished %th of the work in |

: AN <l 8
9 days and the remaining work he |
fimsh(?d In 4 days with the assistance | She o =S
of Rajeev. Find in how many days | 2x-3y-z=-3
Rajeev alone can finish it. x+2y+z=4 5
<! % SR* 9 frere 7{“"91‘\‘-‘1(2::‘@'@175 | (b) Prove that (& 1 @) :
IR < S C9€ SV =l = 4. Frerw o | Lhiar ¢ PRirme
P | G ST BB oy oy ooy R0 | a 1l+b c |=l+a+b+c 3
Ui a by ailstle
(viii) Prove that (e zsay @) - (c) Evaluate (I fefa <) :

li \(’Ll)\ | ’2 —SH—I *2} 5
im =

OR / 734 S, (a) Construct a 3 x 2 matrix such that
51 3 x 2 GIER 527 T IF AW
Evaluate (s Refy =) ¢ i 3i A
1] s TR
fim YL#2% - J1-3% B
Xx—0
5

23
(b) If(ﬂﬁ)A=[3 5],

Answer any Sfour ;
questi
ons from the Jollowing : then show that (CoC® &Wid 41 (@)

Uo7 fry 10x4=40 2
; AT RN 451 2277 g ey 5 o s

+ (a) Solve the follow; where (%) [= L 3

b Ing syst,
y Cramer’s rule . €m of equation 01
4 (Sem-4/CBCs) oo (B
M
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(¢ A man buys 8 dozen of mangOCSE

(@)

(b)

4 (Sem—-4/CBCS] HC2 (BMT)/G

S L SRR B, A g,

@ % 18 per dozen, 10 dozen of apples |
@R 9 per dozen and 4 dozen of bananas
@ %6 per dozen. Represent the.

quantities bought by row matrix and |

prices by column matrix and find |
the total cost. i

R SR LS TR S tp—
¥, &% ©o 9 51 10 wew e R
S 2 S 6 50 S 4 e o B
209 X T A R 0 e s
¥ Gl %0 TR Bt o o |
WWWWWWﬁﬁwl

54 and the p

is 275. Find two extremes |

the numbers. 31

10
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‘

1+1+3=5 7

(c)

(@)

If a,'b, care in A:P. and iy, 2 arefin
G.P., prove that

M a, b, c I TS MR IF x, Yy, Z
BAGT (T W0z, AN T= @

xb-c yc—a za—b =1 5

The compound interest and simple
interest on a certain sum of money at
a certain rate for 2 years are

respectively at  920.95 and ¥ 900. Find
the rate and the sum. 5

@ T @ {i Jow 99w 2 1=\
g SIF A O P 920.95 TFl Wi
900 Tl | JoF TF S e [efT |

A person sells 4% stock of ¥17,500
and invests the proceeds in 3% stock
at 74%. If his income increases by
3 17.50, find the selling price of 4%
stock (brokerage being -é—% in each

case). S

e WeE (969 17,500 BRI 4% 3% R
TR (AR TR 74-L VT 3% B <A I

(9T IF 17.50 53 Ja 21T, (SEHRE 4%
31 [ie wiw am By s (oo crae

il T £%) |
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8.

4

(@)

(b)

A true discount on a bill of 3 1,01,000"

is ¥ 1,000 at 5% p.a. Find how many

days Prior to the actual due date was |
the bill discounted. S

1,01,000 551 373 << e eigpeo 1 AR
1,000 Tol1 3 35 21 59 2w, (orRE |
WWW&WW%WW
Ul CafRe 9 |

Define (3t ]%l‘q’i) :
(i) Dividends
STOJIRH|
(i) Market value of a share

W%‘RW:@

1+1=2

W 3 .
hich s 4 better investment — 4%

stock
at 82 or 4%% stock at 95? 3 |

82 W 40
T 4% B T 95 4 105 B
WWWMﬁﬁmq’a?

A perso ,
profit ot{1 Slg/llylsf '?'111 article and sells at 2
less price ang g1 had bought it at 5%

d :
he would haVeS()ld Itfor 37 paisa less

original cost prifzu e e Find thg

Sem~4/CBCS) He g BMT)/G 1o

(b)

J. (a)
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o SR <01 AR T 5% ies {ies [ |
M TGRS ANIDG! 5% IFo© G FE 37
25! T [P TRE @rod, (997 10%
2 (RreA | ANAOR &4F [Tt wix Wefy 511

In mixing two types of tea, 2% is
wasted. In what ratio tea costing
R 60 per kg be mixed with tea costing
%45 per kg so that by selling the

mixture at 262.50 per kg, there is a
gain of 25% on total outlay. 5

7 Dizees e e 2% 20 2| @S
e 60 B T DI TS &fS &fEr 45
53l w91 pizelie & Seiies fid SR_e ofe
e e vizre 62.50 Te [fe FRe
S R @oR© 25% e FRT 7| IX [
|

If (3M) f(X)=%,

show that (899 9 @)

1(0)-1@=1(2L) 2

q-p
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(b) Examine the continuity of the following

function at x=3 - a1

X=3-9 OY GE B9 TEwsY Smzagl
ST 9 3

healltic
x-3

6: if.?C‘—‘S

, ifx#3

flx)=

(¢) Find the

(%) average Tevenue function (AR), an '

(@) mar ginal revenye function (MR) fof
the fOﬂOWing total revenue functio®
(TR) and evaluate them at Q=3
5
AU 1)
LU o RS Re— (TR)- #{I—
0 TS RS oy (AR), oy

S

(b)

(@)

(b)

4 (Sem-
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1
Find the differential co-efficient of ';5

using first principle. 5)

1
AT g FARE IS —7 - SR S fefa
41|

Find the maximum and minimum
values of 2x3 -9x2 +12x—-1 S5
2x% —9x? +12x -1 AW OF AP I
fAefa <=t

Integrate (gFee 4) : 2+3=5

() [(Bx+2)*dx

3 2
% x° +5x° -4x+2
) | = dx

Evaluate (Y9 @ F41) : 2—]2= + 2%- =5

2
(i) J' (MJ dx
1

4 r
i) | JE+—1-_de
1
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13. (a) Solve any one of the following LPP
. graphically : 6

oo IG5 TR AT I R
GO T 1 2

(i) Maximize Z =6x+7y
e T Fef <
subject to (95 FY ACATF)
2x+3y <12
2x+y=>8
x,y=20
(i) Minimise Z=3x+2y
TN T el =t
subject to (SoR ¥g AloiF) ¢
SX+y>10
X+y=6
X+4y>12
xX,y=20

(b) Write a short note on : (any one) 4
9B 5 Gt Fep ¢
() Linear Pro

@R

gramming Problem
A Sy

@@mmmm%wmms
aﬁ%ﬁnstaﬁhiaaﬁma
—-'-‘—'—'—-—_._
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